ITIOAbI
3apanue |
bensie: Kph4, Kh8, . h6, h7.
Yépunie: Kpf6, Cd7, CdS, m. f7.

Xona 6enpIx. =

3aganue 2
bensie: Kpab, Jig7, Cf2.
Yépunie: Kpd8, Cf6, Cg2, n. d3, g4.

Xox OenpIX. =

3ajanue 3
bensre: Kpb2, J1d2, JIhG, m. h5.

Yépunie: Kpgb, Kg4, m. h2.

Xon 6enbix. +/-

3ajganuc 4

benwie: Kpd5, Cf4, . gb.
Yépusre: Kpf8, m. 7, h7.

Xon OenbIX. +/-

3ajaHue 5

benwie: Kpd4, Ca2, Kd7, n. f7.
Yépunie: Kph7, ®h6, Cb5, Cd2, n. g7.

Xon OenpIx. =



KomOunanumu
3aganue 1
bensie: Kpel, ®f3, Jla7, JIb5, Ce3, n. b2, ¢4, 15, h2.
Yépunie: Kpc8, dc2, JId8, JIg8, Kcb, n. d7, e4, 16, h7.

Xon 0enpix. +/-

3aganue 2
bensie: Kpcl, ®c2, JId4, JIhl, Cb2, Cc4, Kc3, Kg5, m. a2, b3, e3, 2, g2, h2.
Yépunie: Kpg8, de7, Jlas8, JIf8, Cc8, Cd6, Ke5, Kf6, n. a5, b7, ¢6, 7, g7, h7.

Xon 6ensix. +/-

3amanue 3
bensre: Kpgl, dc4, JIbl, Jic2, Cg2, Kd5, n. a5, b6, e5, 15.
Yépunie: Kpb8, ®h6, J1d8, JIg8, Cg5, Kc8, m. a6, b7, d6, h7.

Xon 6enbix. +/-

3ajganuc 4
benwie: Kphl, ®h5, JIf1, JIh3, Ccl, Cg2, Kf4, nn. a3, b2, c2, e4, 16, h2.
Yépunie: Kpf7, dc6, JIg8, JIhS, Ch6, Cb7, Kg6, n. a6, b5, d6, e6, h7.

Xon OenbIX. +/-

3ajaHue 5
benwie: Kphl, ®e2, Jicl, Jlel, Cdl, Kfl, o. a2, c4, d5, 3, f4, h2.
Yeépunie: Kpc8, dc5, Jle8, JIg8, Cc7, Cg6, m. a7, b7, e3, 7, h3.

Xon uépHbIx. -/+



